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###$ Invite for UCCX trigger S$###

02302874. 002 | 10: 14:27.152 | Applnfo | SIPTcp - wait_Sdl ReadRsp: Incoming SIP TCP nessage from
10. 106. 87.161 on port 52035 index 19 with 1475 bytes:

[ 83471, NET]

I NVI TE si p: 9@.0. 106. 87. 135; user =phone SIP/2.0

Via: SIP/2.0/ TCP 10. 106. 87. 161: 52035; br anch=z9hG4bK0593f 26a

From "2161" <sip:2161@l0. 106. 87. 135>; t ag=e8ba7006276f 00792818f 1b2- 6550ea32

To: <sip:9@o0.106. 87. 135>

Cal | -1 D: e8ba7006-276f 0004- 3895b0cc- 3f da7f b1@0. 106. 87. 161

Max- For war ds: 70

Date: Fri, 08 Apr 2016 04:44:25 GV

CSeq: 101 INVITE

User - Agent: Ci sco- CP8961/9.4.2

Contact: <sip: 849f e75d- ae74-8e22-d48e-cllf eccbecf2@0. 106. 87. 161: 52035; t ransport =t cp>
Expires: 180

Accept: application/sdp

Al'l ow. ACK, BYE, CANCEL, | NVI TE, NOTI FY, OPTI ONS, REFER, REG STER, UPDATE, SUBSCRI BE, | NFO

Renmpt e-Party-ID: "2161" <sip:2161@0. 106. 87. 135>; party=cal | i ng; i d-

t ype=subscri ber; pri vacy=of f; screen=yes

Supported: repl aces,join, sdp-anat, noref ersub, resource-priority, extended-refer, X-ci sco-
cal l i nfo, X-ci sco-serviceuri, X-ci sco-escapecodes, X-ci sco-servi ce-control, X-ci sco-srtp-fall back, X-
ci sco- nonrec, X-ci sco-confi g, X-ci sco-sis-7.0.0, X-cisco-xsi-8.0.1

Al 'l ow Events: kpnl, dial og

Recv-1 nfo: conference

Recv- I nfo: x-cisco-conference

Content - Lengt h: 354

Cont ent - Type: application/sdp

Content - Di sposi tion: session; handl i ng=opti onal

v=0

0=Ci sco- SI PUA 23877 O IN I P4 10.106.87. 161
s=SI P Cal |

t=0 0

mFaudi o 17818 RTP/ AVP 102 0 8 116 18 101
c=IN I P4 10.106. 87. 161

a=rt pmap: 102 L16/ 16000

a=rt pmap: 0 PCMJ 8000

a=rt pmap: 8 PCMA/ 8000

a=rtpmap: 116 i LBC/ 8000

a=fmt p: 116 node=20

a=rtpmap: 18 Gr29/ 8000

a=f mt p: 18 annexb=no

a=rt pmap: 101 tel ephone- event /8000



a=fnt p: 101 0- 15
a=sendr ecv

UCCX % 999901 =} E440| grgfL|ct.

###$ Digit Anal ysis happens for UCCX nunber 9999 S$###

02302962. 007 | 10: 14:27.832 |Applnfo |Digit analysis: natch(pi="2", fqcn="2161",
cn="2161", pl v="5", pss="", TodFilteredPss="", dd="9999", dac="0")

02302962. 008 | 10:14:27.832 |Applnfo |Digit analysis: analysis results
02302962. 009 | 10: 14:27.832 | Applnfo || PretransforntCallingPartyNunber=2161
| Cal I'i ngPartyNunber=2161

| Di al i ngPartition=

| Di al i ngPat t er n=9999

| Ful l yQual i fi edCal | edPart yNunber =9999

| Di al i ngPat t er nRegul ar Expr essi on=(9999)

| Di al i ngWer e=

| Patt er nType=Ent erpri se

9999 Hi5 £ P&l of 5t IXIE &S [l LinecontrollerE YA E|H, O| Z2MAE S3HE &
2|5t= Ot T2 M A L|C}.

02302964. 000 | 10: 14:27.832 | Sdl Sig | DnPi dRes

| wai t | Da(1, 100, 211, 1)

| Devi ceManager ( 1, 100, 205, 1) | 1,100, 14, 94509. 144710. 106. 87. 161~ |[R N

H: 0,N0,L:0,V:0,2:0,D:0] Cepn=4eebaf 05-990d-7980- a79f - e4488f b75cec |1d=3836477808 ccnilype=4
Devi ceNane=9999: Pi d=1, 100, 174, 555, ad243d17- 98b4- 4118- 8f eb- 5f f 2elb781ac

###3$ Pl D=Li neControl (1, 100, 174, 555) is the response

02302964. 001 | 10:14:27.832 |Applnfo |Digit analysis: wait_DrPidRes- Partition=[] Pattern=[9999]
VWere=[], cnDevi ceType=[ User Devi ce], QutsideDi altone =[0], DeviceOverride=[0],
Pl D=Li neControl (1, 100, 174, 555), Cl =[ 31614358] , Sender =Cdcc( 1, 100, 219, 249)

0|2 E35H Linecontroller2 4Z3E/L|C}.

02302975. 001 | 10:14:27.833 | Applnfo |LineControl (555) - 0 calls, 0 G Req, busyTrigger=10000,
maxCal | =10000

02302975. 002 | 10:14:27.833 |Created |

| | Li neCdpc( 1, 100, 175, 269)

| Li neControl (1, 100, 174, 555) |

| Nunf Current | nst ances: 2

02302975. 003 | 10: 14: 27.833 | Applnfo | LineControl (555) - Get call instance=1 for Cl=31614359
02302975. 004 | 10:14:27.833 | Applnfo |LineControl (555): restart0_CcSetupReq update State of cdpc
(269) to receive?

O[A| Linecontroller?} C|HFO|A(CTI ZE)E A E LICEH

02302979. 000 | 10: 14:27.834 | Sdl Sig | CcSet upReq

| null0 | Li neCdpc(1, 100, 175, 269)

| Li neControl (1, 100, 174, 555) | 1, 100, 14, 94509. 144710. 106. 87. 161* |[R N
HO,N21,L:0,V:0,Z:0,D 0] C=31614359 Cl.branch=0 sBPL.plid=65 sBPL.|=1 sBPL. pl =5 sBPL. nsd=0
FDat aType=0opl d=0ssType=0 SsKey=0i nvokel d=0r esul t Exp=Fbpda=F pi . piid=30 pi.l=0 pi2.piid=30

pi 2.1=0 pi 3. piid=30 pi3.1=0 FQCGPN=t i =1nd=2161pi =0si 1 pr eXCgpn=t n=0npi =0ti =1nd=2161pi =0si 1
cgPart= cgPat =2161 cgpn=t n=0npi =0t i =1nd=2161pi =1si 1 cgpnVM= unXCgpn=t n=0npi =0t i =1nd=2161pi =1si 1
cName=l ocal e: 1 Nane: UnicodeNane: pi: 1

DD=t n=0npi =1t i =1nd=9999User =9999Host =10. 106. 87. 135Por t =5060PassWr d=Madder =Tr ansport =4nDi spl ayNa
me=RawUr | =si p: 9@.0. 106. 87. 135; user =phoneCri gPor t =0pi =0si 1

ori gDD=t n=0npi =1t i =1nd=9999User =9999Host =10. 106. 87. 135Por t =5060PassWbr d=Madder =Tr anspor t =4nDi spl
ayNanme=RawlUr | =si p: 9@.0. 106. 87. 135; user =phoneCri gPor t =0pi =0si 1

pr eXCdpn=t n=0npi =0t i =1nd=9999pi =0si 0 pr eXTagsLi st =SUBSCRI BER pr eXPosMat chLi st =9999 cdPart =



cdPat =9999 cdpn=t n=0npi =0t i =1nd=9999pi =1si 1 cdpnVMiox= | ocal Patt er nUsage=2

connect edPatt ernUsage=2 itrPart= itrPat= LRPart= LRPat =9999 LR=t n=0npi =0ti =1nd=9999pi =0si 1 LRVME=
LRNanme=l ocal e: 1 Name: UnicodeNanme: pi: 0 FQOCpdn=ti =1nd=9999pi =0si 1

f FQLRNun¥t i =1nd=9999pi =0si 1 oPart= oPat =9999 oCpdn=t n=0npi =0t i =1nd=9999pi =0si 1 oCdpnVM= oRFR=0
oNanme=l ocal e: 1 Nanme: UnicodeName: pi: 0 ts=SUBSCRI BER posMat ches=9999 withTags= w t hVal ues=
rdn. | =0l pAddr Mbde=0 i pAddr Type=0 i pv4=10. 106. 87. 161: 52035 r egi on=Def ault capCount=5 cti Active=F
cti Far EndDev=1 cti CCM d=1 cgPt yDev=SEPE8BA7006276F cal | I nst=1 conf Cal | I nst=0 OLF=1Supp
DTMF=3DTMF Cf g=1DTMF Payl oad=101i sOf f Net Dev=F bc.1=3 bc.itr=1 bc.itc=0 bc.trm=0 bc.tm=16

maxFor war ds=69 cgpnMaskedByRedi rect =F cal | i ngDP=1b1b9eb6- 7803- 11d3- bdf 0- 00108302eadl

feat Cal | Type=0 cal | i ngUser | d= Uni codeNane: muteEnabl ed=0 associ atedCall Cl =0 featurePriority=1
nonTar get Pol i cy=0 unconsunedDi gi t s= suppressMOH=F nunPl anPki d =4eebaf 05- 990d- 7980- a79f -

e4488f b75cec networ kDormai n= bi t Mask=0 Set upReason=0 routeC ass=1 si deACrDevi ceType=4 protected=1
Cont r ol ProcessType=0 t okens=0 i sPresent=F transitCount=0 geol ocl nfo={geol ocPki d=, filterPkid=,
geol ocVal =, devType=4} | ocPki d=29c5c1c4-8871-4dle-8394- 0b9181e8c54d | ocName=Hub_None deduct BWEF
f at eShar el d=St andAl oneC ust er: 31614358 vi deoTr af fi cCl ass=Deskt op oFr omAnal ogDvc=F

bri dgePartici pantl D= cal | i ngUsr= renoteC usterl D= i SEMCCDevi ce=F | HPMenCEPN= cHPMenCEPN=
uri=ti=1User =Host =Por t =0PassWor d=Madder =Tr anspor t =4nDi spl ayName=RawUr | =<si p: 849f e75d- ae74- 8e22-
d48e- c11f eccbecf 2@0. 106. 87. 161: 52035; t ransport =t cp>0ri gPor t =0pi =0si 1 i sPar anSet =T M=Unknown
;rc=0 Hdrs= CanSupport Sl PTandN=t rue Transl d=0 Al | owBi t Mask=0x7bf User Agent Or Ser ver =Ci sco-
CP8961/9.4.2 OrigDDNane=l ocal e: 1 Name: UnicodeName: pi: 0 nCallerld=

nCal | er Name=Lat ent Caps=nul | icidVal = i ci dGenAddr= oi oi = tioi = ptParans= recei vedPAl D= rout eHdr =
rout eCepn= request URI = PCVFl ag=F ori gi nal | yHadl SUP=F i sl MSFi nal Rout e=F | MS\Wbde=0

Si deABi bEnabl ed= 3 i sCgpnNonPr eenpt abl e=F i sCdpnNonPr eenpt abl e=F ori gDP=1b1b9eb6- 7803- 11d3- bdf 0-
00108302eadl | ast Redi recti ngDP=1b1b9eb6- 7803- 11d3- bdf 0- 00108302eadl ori gi nal LRG=

| ast Redi recti ngLRG= nwLoc=0 rstr= Far EndDevi ceName=SEPE8BA7006276F hdr MOH=0 CAL={v=ffffffff,
meffffffff, tDev=F, res=F, devType=0}

02302979. 001 | 10:14:27.834 | Applnfo |LineCdpc(269): -dispatchToAll Devices-, sigName=CcSet upReq,
devi ce=TR&X

O|x| S&7t CTI ZEof ALl ZET} S50l SEELICEH

02303167. 000 | 10: 14:27.874 | Sdl Sig-1 | CtiLi neCal | Answer Req

|restartO | StationD(1, 100, 63, 520)

| CTI Devi ceLi neMyr (1, 200, 25, 1) | 1, 200, 13, 273912. 572~10. 106. 87. 133~ TEST_543210 |[R N-
H0,NO,L:0,V:0,2:0,D:0] mAsyncResponse=6043 CH=1| 31614360 LH=1| 1063 Medi aDevi ceName =

Medi aDevi cePid = (0,0,0,0) resource |1D=0

02303167. 001 | 10: 14:27.874 | Applnfo | StationD(520): StationCiD CtilLineCall Answer Req LH=1| 1063
02303167. 002 | 10: 14:27.874 | Applnfo | StationD(520): StationCiD CtilLineCall Answer Req LH=1| 1063
02303168. 000 | 10: 14: 27.874 | Sdl Si g | St ati onOf f Hook

|restartO | StationD(1, 100, 63, 520)

| StationD(1, 100, 63, 520) | 1, 200, 13, 273912. 572"~10. 106. 87. 133*TEST_543210 |[R N
HO,N1,L:0,V:0,Z:0,D: 0] Line=1 Cl=31614360 GCl.node=0 GCl.ci=0 nDi al edDi gi ts= nPrinmaryC =0
cgpn= cgpnVMBx= trigger=0 ntBpoof Cgp=F fp=1 fid=9999 FDat aType=0opl d=0ssType=0

SsKey=0i nvokel d=0r esul t Exp=Fbpda=F

###$ CTI Port Answered the call or Call is nowin Queue S$###

02303168. 001 | 10:14:27.874 | Applnfo |StationD: (0000520) restartQ_Stati onO f Hook - | NFG

Cl =31614360 on |ine=1, SPKMbde=0, al waysPrinmeLi ne=0, al waysUsePri meLi neFor VM=0, fi d=9999,

of f HookTr i gger =0.

02303168. 002 | 10:14:27.874 | Applnfo | StationD: (0000520) restartO_Stati onO f Hook - | NFG

Cl =31614360 on |ine=1, SPKMbde=0. Answer.

02303168. 003 | 10: 14: 27.874 | Applnfo | StationD: (0000520) preProcessing - INFG Pl ease Send
t he signal now.

02303168. 004 | 10:14:27.874 | Applnfo | StationD: (0000520) I NFO sendSi gnal Now,

si gName=St at i onOf f Hook, cdpc:240

ol & AIXE7} CHZ (ol Q1 20| RAAELICHARS ARE Azt $ 12
T EWHHSE DTMF 7:7(|- 0,8,0,6,2,1,3,1,#2 2 245l 7| A|ZFEFLICE

ro
]
or
fjo
>
o
Q'I_l

7|

###$ Digit O $###



02303407. 000 | 10: 14: 46. 625
Renot eSi gnal

| 1, 100, 14, 94509. 150710. 106
CH=1]| 31614360 GCH=1| 29124

02303408. 000 | 10: 14: 46. 625
|restartO

| Stati onCdpc(1, 100, 64, 240)

H O0,N.O,L:0,V:0,Z:0,D:0] Digit=0 Cl =31614360Li ne=1

#4HS Digit 8 Sus#

02303430. 000 | 10: 14: 47. 243
Renot eSi gnal

| 1, 100, 14, 94509. 151710. 106
CH=1]| 31614360 GCH=1| 29124

02303431. 000 | 10: 14: 47. 243
|restartO

| Stati onCdpc(1, 100, 64, 240)

H O0,NO,L:0,V:0,Z:0,D:0] Digit=8 Cl=31614360Li ne=1

HHHS Digit O Su##

02303446. 000 | 10: 14: 47. 791
Renot eSi gnal

| 1, 100, 14, 94509. 152~10. 106
CH=1]| 31614360 GCH=1| 29124

02303447. 000 | 10: 14: 47. 791
|restartO

| Stati onCdpc(1, 100, 64, 240)

H O0,NO,L:0,V:0,Z:0,D:0] Digit=0 Cl=31614360Li ne=

#4HS Digit 6 Su##

02303465. 000 | 10: 14: 48. 962
Renot eSi gnal

| 1, 100, 14, 94509. 153~10. 106
CH=1]| 31614360 GCH=1]| 29124

02303466. 000 | 10: 14: 48. 962
|restartO

| Stati onCdpc(1, 100, 64, 240)

H:O0,N.O,L:0,V:0,Z:0,D:0] Digit=6 Cl=31614360Li ne=1

HHHS Digit 2 Su##

02303481. 000 | 10: 14: 49. 520
Renot eSi gnal

| 1, 100, 14, 94509. 154710. 106
CH=1]| 31614360 GCH=1]| 29124

02303482. 000 | 10: 14: 49. 520
|restartO

| Stati onCdpc(1, 100, 64, 240)

H O,N.O,L:0,V:0,Z:0,D:0] Digit=2 Cl=31614360Li ne=1

HHHS Digit 1 Sus#

02303499. 000 | 10: 14: 50. 014
Renot eSi gnal

| 1, 100, 14, 94509. 155~10. 106
CH=1]| 31614360 GCH=1]| 29124

02303500. 000 | 10: 14: 50. 014
|restartO

| Stati onCdpc(1, 100, 64, 240)

H:O0,NO,L:0,V:0,Z:0,D:0] Digit=1 Cl=31614360Li ne=1

| SdI Sig-O | Cti DTMFNoti fy | NA
| UnknownPr ocessNane( 1, 200, 25, 1) | Stati onCdpc(1, 100, 64, 240)
87.161n* |[[RRNHO,N1,L:0,V:0,Z:0,D: 0] LH=1| 1063
| SdI Si g | St at i onQut put KeypadBut t on
| StationD(1, 100, 63, 520)
| 1, 100, 14, 94509. 150710. 106. 87. 161"* | [R N
| SdI Sig-O | Cti DTMFNoti fy | NA
| UnknownPr ocessNane( 1, 200, 25, 1) | Stati onCdpc(1, 100, 64, 240)
87.161n* |[RRNHO,N1,L:0,V:0,Z:0,D: 0] LH=1| 1063
| SdI Si g | St at i onQut put KeypadBut t on
| StationD(1, 100, 63, 520)
| 1, 100, 14, 94509. 151"710. 106. 87. 161"* | [R N
| SdI Sig-O | Cti DTMFNoti fy | NA
| UnknownPr ocessNane( 1, 200, 25, 1) | Stati onCdpc(1, 100, 64, 240)
87.161n* |[[RRNHO,N1,L:0,V:0,Z:0,D: 0] LH=1| 1063
i g t at i onQut put KeypadBut t on
Sdl Si StationQu K dBi
| StationD(1, 100, 63, 520)
| 1, 100, 14, 94509. 152"~10. 106. 87. 161"* | [R N
| SdI Sig-O | Cti DTMFNoti fy | NA
| UnknownPr ocessNane( 1, 200, 25, 1) | Stati onCdpc(1, 100, 64, 240)
87.161n* |[[RRNHO,N1,L:0,V:0,Z:0,D: 0] LH=1| 1063
i t at i onQut put KeypadBut t on
Sdl Sig St at i onQut put KeypadB
| StationD(1, 100, 63, 520)
| 1, 100, 14, 94509. 153~10. 106. 87. 161"* | [R N
| SdI Sig-O | Cti DTMFNoti fy | NA
nknownPr ocessNane( 1, , 25, t at i onCdpc( 1, , 64,
Unk P Narme( 1, 200, 25, 1 Stati onCd 1, 100, 64, 240
. 87.1611* |[[RNHO,N1,L:0,V:0,Z:0,D: 0] LH=1| 1063
| SdI Si g | St at i onQut put KeypadBut t on
| StationD(1, 100, 63, 520)
| 1, 100, 14, 94509. 154710. 106. 87. 161"* | [R N
| SdI Sig-O | Cti DTMFNoti fy | NA
| UnknownPr ocessNane( 1, 200, 25, 1) | Stati onCdpc(1, 100, 64, 240)
. 87.1611* |[[RRNHO,N1,L:0,V:0,Z:0,D: 0] LH=1| 1063
| SdI Si g | St at i onQut put KeypadBut t on
| StationD(1, 100, 63, 520)
| 1, 100, 14, 94509. 155210. 106. 87. 161"* | [R N



#4HS Digit 3 Sus#

02303516. 000 | 10: 14:50.431 | Sdl Sig-O | Cti DTMFNot i fy | NA
Renot eSi gnal | UnknownPr ocessNane( 1, 200, 25, 1) | Stati onCdpc(1, 100, 64, 240)
| 1, 100, 14, 94509. 156"10. 106. 87. 161"* |[[RRNHO,N1,L:0,V:0,Z:0,D: 0] LH=1] 1063

CH=1]| 31614360 GCH=1]| 29124

02303517. 000 | 10:14:50.431 | sdl Sig | St at i onQut put KeypadBut t on

|restartO | StationD(1, 100, 63, 520)

| StationCdpc(1, 100, 64, 240) | 1, 100, 14, 94509. 156"10. 106. 87. 161"* | [R N
H:0,N:0,L:0,V:0,Z:0,D: 0] Digit=3 Cl=31614360Li ne=1

HHHS Digit 1 Sus#

02303532. 000 | 10: 14:50.858 | Sdl Sig-O | Cti DTMFNot i fy | NA
Renot eSi gnal | UnknownPr ocessNane( 1, 200, 25, 1) | Stati onCdpc(1, 100, 64, 240)
| 1, 100, 14, 94509. 157710. 106. 87. 161"* |[[RNHO,N1,L:0,V:0,Z:0,D: 0] LH=1] 1063

CH=1]| 31614360 GCH=1| 29124

02303533. 000 | 10:14:50.858 | sdl Sig | St at i onQut put KeypadBut t on

|restartO | StationD(1, 100, 63, 520)

| StationCdpc(1, 100, 64, 240) | 1, 100, 14, 94509. 157710. 106. 87. 161"* | [R N
H:0,N:0,L:0,V:0,Z:0,D:0] Digit=1 Cl=31614360Li ne=1

###$ Digit # pressed to confirmthe call back $###

02303549. 000 | 10: 14:51.558 | Sdl Sig-O | Cti DTMFNot i fy | NA
Renot eSi gnal | UnknownPr ocessNane( 1, 200, 25, 1) | Stati onCdpc(1, 100, 64, 240)
| 1, 100, 14, 94509. 158"110. 106. 87. 161"* |[[RNHO,N1,L:0,V:0,Z:0,D: 0] LH=1| 1063

CH=1]| 31614360 GCH=1| 29124

02303550. 000 | 10:14:51.558 | sdl Sig | St at i onQut put KeypadBut t on

|restartO | StationD(1, 100, 63, 520)

| StationCdpc(1, 100, 64, 240) | 1, 100, 14, 94509. 158"110. 106. 87. 161"* | [R N
H:0,N:0,L:0,V:0,Z:0,D: 0] Digit=# Cl=31614360Li ne=1

###$ CTI/UCCX di sconnect the call S$###

02303553. 000 | 10:14:51.561 | Sdl Sig-1 | CilLineCall D sconnect Req

|restartO | StationD(1, 100, 63, 520)

| CTI Devi ceLi neMgr (1, 200, 25, 1) | 1, 200, 13, 273912. 574710. 106. 87. 133" TEST_543210 |[R N
H:0,NO,L:0,V:0,2:0,D:0] mAsyncResponse=6045 CH=1| 31614360 LH=1| 1063

02303553. 001 | 10:14:51.561 | Applnfo |StationD(520): StationCtiD CiLineCall D sconnectReq
LH=1| 1063

02303553. 002 | 10:14:51.561 | Applnfo |StationD(520): StationCtiD CiLineCall D sconnectReq
LH=1| 1063

O| HIA|X|E &3l PSTN(Public Switched Telephone Network)Zt2| S&t7 27|10 1EH L= AL
A ez EHA7 2t 2 E[RS LICH

2EA. Mg 4|

A AEIO| A 8 CTI EE|7{ 399901 CHEt S3HE & AAIZLCE.

###$ CTl redirect to Call back trigger (Stage 2 )

02303675. 000 | 10: 14:51.772 |Sdl Sig-1 |CiLineCalllnitiateReq

|restartO | StationD(1, 100, 63, 520)

| CTI Devi ceLi neMyr (1, 200, 25, 1) | 1, 200, 13, 273912. 576”10. 106. 87. 133~ TEST_543210 |[R N-
H:0,N:0,L:0,V:0,Z:0,D: 0] AsyncResponse=6046 LH=1| 1063 GCH=1| 29125 Cal | edPartyl nf 0=3999
Medi aDevi ceNane = Medi aDevicePid = (0,0,0,0) resource | D=0 FetaurePriority=1



###$ Digit Analysis for CTlI call back nunber $###

02303722.006 | 10:14:51.778 |Applnfo |Digit analysis: match(pi="2", fqcn="543210",
cn="543210", pl v="5", pss="", TodFilteredPss="", dd="3999", dac="0")

02303722.007 |10:14:51.778 |Applinfo |Digit analysis: analysis results
02303722.008 | 10:14:51.778 | Applnfo || PretransfornCallingPartyNunber=543210

| Cal I i ngPart yNunber =543210

| DialingPartition=

| Di al i ngPat t er n=3999

| Ful  yQual i fi edCal | edPart yNunber =3999

| Di al i ngPat t er nRegul ar Expr essi on=(3999)

###$ Call is offered to CTl Ports (This is the Queue for Busy application)

02303783. 006 | 10:14:51.803 |Applnfo |Digit analysis: match(pi="1", fqcn="543210",
cn="543210", pl v="5", pss="", TodFilteredPss="", dd="4003", dac="0")

02303783. 007 | 10:14:51.803 |Applinfo |Digit analysis: analysis results

02303783. 008 | 10:14:51.803 | Applnfo || PretransformCallingPartyNunber=543210

| Cal I i ngPart yNunber =543210

| DialingPartition=

| Di al i ngPat t er n=4003

| Ful  yQual i fi edCal | edPart yNunber =4003

###$ CTl port accepts the call or Answers the call

02303916. 000 | 10: 14: 51.855 | Sdl Sig | Stati onOf f Hook

| cal | _received? | Stati onCdpc(1, 100, 64, 243)

| StationD(1, 100, 63, 509) | 1, 200, 13, 273912. 579710. 106. 87. 133~1 CD_4003 |[R N
H:0,N:0,L:0,V:0,2:0,D: 0] Line=1 Cl=31614363 GCl.node=0 GCl.ci=0 nDi al edDi gi ts= nPrimaryC =0
cgpn= cgpnVMBx= trigger=0 ntBpoof Cgp=F fp=1 fid=0 FDat aType=0opl d=0ssType=0

SsKey=0i nvokel d=0r esul t Exp=Fbpda=F

02303916. 001 | 10:14:51.855 | Applnfo |StationCdpc(243): StationCti Cdpc-StationO f Hook

CH=1]| 31614363

02303916. 002 | 10: 14:51.855 | Applnfo | StationCdpc(243): StationCti Cdpc-StationO f Hook

CH=1]| 31614363

O|M| &E 20| SEE &2 = UH =[H CTI0M SE A HES AT

###$ CTl Initating Transfer to Agent is now avaliabe to take the call

02304085. 000 | 10:14:53.429 | Sdl Sig-1 | CtilLineCall Transfer Set upReq

|restartO | StationD(1, 100, 63, 509)

| CTI Devi ceLi neMyr (1, 200, 25, 1) | 1, 200, 13, 273912. 583710. 106. 87. 13371 CD 4003 |[R N

H: 0,N.0,L:0,V:0,2Z:0,D: 0] AsyncResponse=6054 LH=1| 1041 CH=1| 31614363 DN=62151

Consul t Wt hout Medi a=T

02304085. 001 | 10:14:53.429 |Applnfo |StationD(509): StationCtiD CtiLineCallTransferSetupReq
CH=1| 31614363 cdpn=62151

02304085. 002 | 10:14:53.429 | Applnfo |StationD(509): StationCtiD CtiLineCallTransferSetupReq
CH=1| 31614363 cdpn=62151

###% DD for Agent

02304237.006 | 10:14:53.440 |Applnfo |Digit analysis: match(pi="2", fqcn="4003",
cn="4003", pl v="5", pss="", TodFilteredPss="", dd="62151", dac="0")

02304237. 007 | 10: 14:53.440 |Applnfo |Digit analysis: analysis results
02304237.008 | 10: 14:53.440 | Applnfo || PretransforntCallingPartyNurmber=4003

| Cal I'i ngPart yNunber =4003

| Di al i ngPartition=

| Di al i ngPat t er n=62151

| Ful  yQual i fi edCal | edPart yNunber =62151

| Di al i ngPat t er nRegul ar Expr essi on=(62151)



###3$ Invite for the Agent

I NVI TE si p: b16b6893- 445d- 6407- 2a23- 83e6f f 6f b4f 7@L0. 106. 87. 164: 52242; transport=tcp SIP/ 2.0
Via: SIP/2.0/ TCP 10. 106. 87. 135: 5060; br anch=z9h4bK3f c859136cc1

From "Busy Application" <sip:4003@.0. 106.87.135>;tag=32711~54aff 7a7-042a- 4733- 9a99-
8a2f 7027a30d- 31614366

To: <sip:62151@0. 106. 87. 135>

Date: Fri, 08 Apr 2016 04:44:53 GMI

Cal | -1D: al3f5600-70713745- 3da4-87576a0a@0. 106. 87. 135

Supported: tiner,resource-priority,replaces

M n-SE: 1800

User - Agent: Ci sco- CUCMLO. 5

Allow INVITE, OPTIONS, INFO BYE, CANCEL, ACK, PRACK, UPDATE, REFER, SUBSCRI BE, NOTIFY
CSeq: 101 INVITE

Expires: 180

Al'l ow Events: presence

Call -Info: <urn:x-cisco-renmotecc: callinfo> security= Unknown; orientation= from gci= 1-29126;
isVoip; call-instance= 1

Send- | nf o: conference, x-cisco-conference

Alert-Info: <file://Bellcore-drl/>

Renmot e- Party- I D: "Busy Application" <sip:4003@0. 106.87.135; x-ci sco-cal | back-

number =4003>; part y=cal | i ng; scr een=yes; pri vacy=of f

Cont act: <sip:4003@0. 106.87.135:5060;transport=tcp>

Max- Forwar ds: 70

Content-Length: O

Ol & &EH 20| S5 5 232 Eof dZL|1 3EHA &% 2|C|=Mo| Al=HELCt

3EA. St 2lc|=M

SEHEHS HM e SHE S OT[ELCLEME 12 SEHE +E ot Dol A ChA| 3tE AL
Ct.

HOIMEE AZE 7| =M =X 18 FELICH

###$ Digit 1 pressed by the agent

NOTI FY si p: 10. 106. 87. 135: 5060 SI P/ 2.0

Via: SIP/2.0/ TCP 10. 106. 87. 164: 52242; br anch=z9hG4bK187640df

To: "Busy Application" <sip:4003@l0.106.87.135>;tag=32711~54aff 7a7- 042a- 4733- 9a99- 8a2f 7027a30d-
31614366

From <sip:62151@0. 106. 87. 135>; t ag=e8ba70f b6e0a20544386b963-4947235a

Cal | -1D: al3f5600-70713745- 3da4-87576a0a@0. 106. 87. 135

Date: Fri, 08 Apr 2016 04:45:01 GVIT

CSeq: 102 NOTI FY

Event: kpml

Subscription-State: active; expires=7200

Max- Forwar ds: 70

Cont act: <sip: bl6b6893-445d- 6407- 2a23- 83e6f f 6f b4f 7@L0. 106. 87. 164: 52242; t ransport =t cp>
Al l ow. ACK, BYE, CANCEL, | NVI TE, NOTI FY, OPTI ONS, REFER, REA STER, UPDATE, SUBSCRI BE

Cont ent - Lengt h: 201

Cont ent - Type: application/ kpm -response+xm

Cont ent - Di sposi tion: session; handl i ng=required

<?xm version="1.0" encodi ng="UTF- 8" ?>
<kpm -response xm ns="urn:ietf:parans: xm : ns: kpm -response” version="1.0" code="200" text="0K"
suppressed="fal se" forced_flush="fal se" digits="1" tag="dtnf"/>

O|A| O] x| AlAEI0|M "S2t 2lC|H M S AELICHURet 2 HS = A[AED o O|ME 7t
S=tE AR A ME st ol AFSE LT



###$ CfRedirectingDestinationRegister

02305081. 000 | 10: 15:07.835 | Sdl Sig | cERedirectingDestinationRegister

|tcc_idle0 | Cdcc(1, 100, 219, 256)

| Cdcc( 1, 100, 219, 251) | 1, 100, 14, 94475. 134710. 106. 87. 164"* | [R N
H:0,N:5,L:0,V:0,2:0,D:0] orphanedCl= 31614361 col | ect Codel f Needed= 0

02305082. 000 | 10:15:07.835 | Sdl Sig | CcOr phanPauseReq

| call _activelO | Li neCdpc(1, 100, 175, 271)

| Li neControl (1, 100, 174, 554) | 1, 100, 14, 94475. 134710. 106. 87. 164"* | [R N
H:0,N:5L:0,V:0,Z:0,D: 0] Cl= 31614361

02305082. 001 | 10:15:07.835 | Appl nfo |LineCdpc(271): -dispatchToOnl ySCCPSI PDevi ces-,

si gNane=CcOr phanPauseReq, devi ce=TEST_543210

02305083. 000 | 10: 15: 07.835 | Sdl Si g | CcNot i f yReq

| newpaused | Li neCdpc(1, 100, 175, 271)

| Li neControl (1, 100, 174, 554) | 1, 100, 14, 94475. 134710. 106. 87. 164"* | [R N
H:0,N5,L:0,V:0,2:0,D:0] C=31614361 Cl.branch=0 |[|Part= |Patt= | ModNumepi =0si 1 | Name=l ocale: 1
Name: Uni codeNane: pi: O cName=locale: 1 Name: UnicodeNanme: pi: 0 cn:pi=0sil cVMox=

| ocal Patt ernUsage=2 connect edPatternUsage=2 | CnPart= | CnPatt= rn: pi=0sil | LRPart= | LRPatt =

| OCdpnPart = | OCdpnPatt = oCdpn: pi =0si 1 oRFR =0 | Bri dgePart| D= | CnBri dgePart| D= | HPMemCEPN=
cHPMenmCEPN= onBehal f =CCti Li ne whi chSi de=0 hol dFl ag=0 noti fyMsg=l ocal e: 1 Nanme: Uni codeNane:
prompt Msg=l ocal e: 1 Nanme: UnicodeNane: apply Instr=0 s.sv=0 pronpt Msg. userLocal e=1
cgDevName=TEST_543210 cti Active=F cti Far EndDev=0 cti CCM d=0 CTl event not set.
secureStatus=(T,0) call State=5 nmedi a=1 bit Mask=4000000 Supp DTMF=3DTMF Cf g=1DTMF Payl oad=101
noti fi edDName= connType=0 connSt at us=0newPL=5newPLDm=0 net wor kDomai n= suppr essMOH=F
triggerByJoi n=F Notiflnd= ni.niid=39 ni.l=0 ni.nnd=0devi ceCepn= partitionSearchSpace=

geol ocl nf o={ geol ocPki d=, filterPkid=, geolocVal = devType=4} | ocPkid= | ocNanme= deduct BWtF

f at eShar el d= vi deoTr af fi cC ass=Deskt op dt mvtcNodel d=0 dt mCurrent C =0 i sO f Net Devi ce=F i gnCnt H=F
cmDevi ceType=4 ssCause=0Tr anspar ent Dat a=nul | CanSupport SI PTandN=f al se Transl d=0 Al | owBi t Mask=0x0
User Agent Or Server = Ori gDDNarre=| ocal e: 1 Nane: UnicodeNanme: pi: 0 ntCallerld= ntCallerName=

FDat aType=0opl d=0ssType=0 SsKey=0i nvokel d=0r esul t Exp=Fbpda=F i sPar anfSet =F nobi | i t yEvent Type=0x0
Bi bEnabl ed = 3 MMCap=0x1 CAL={v=-1, m=-1, tDev=F, res=F, devType=0} CAL={v=-10, m=1, tDev=F,
res=F, devType=0} Call |l nstanceNunber=0 far EndDevNanme=SEPESBA70FB6EOA hdr MOH=0

02305083. 001 | 10:15:07.835 | Appl nfo | LineCdpc(271): -dispatchToAl | Devices-,

si gNane=CcNot i f yReq, devi ce=TEST_543210

02305084. 000 | 10: 15: 07.835 | Sdl Si g | CcNot i f yReq

| call _activelO | Li neCdpc(1, 100, 175, 275)

| Li neControl (1, 100, 174, 577) | 1, 100, 14, 94475. 134710. 106. 87. 164"* | [R N
H:0,N5,L:0,V:0,2:0,D: 0] C=31614366 Cl.branch=0 |[|Part= |Patt= | ModNumepi =0si 1 | Nanme=l ocale: 1
Name: Uni codeNane: pi: O cNanme=locale: 1 Name: UnicodeNanme: pi: 0 cn:pi=0sil cVMox=

| ocal Patt ernUsage=2 connect edPatternUsage=2 | CnPart= | CnPatt= rn: pi=0sil | LRPart= | LRPatt =

| OCdpnPart = | OCdpnPatt = oCdpn: pi =0si 1 oRFR =0 | Bri dgePart| D= | CnBri dgePart| D= | HPMemCEPN=
cHPMenmCEPN= onBehal f =CCti Li ne whi chSi de=0 hol dFl ag=0 noti fyMsg=l ocal e: 1 Nanme: Uni codeNane:
prompt Msg=l ocal e: 1 Nanme: Uni codeNane: apply Instr=0 s.sv=0 pronpt Msg. userLocal e=1
cgDevName=TEST_543210 cti Active=F cti Far EndDev=0 cti CCM d=0 CTl event not set.
secureStatus=(T,0) call State=5 nmedi a=1 bit Mask=4000000 Supp DTMF=1DTMF Cf g=1DTMF Payl oad=0

noti fi edDName= connType=0 connSt at us=0newPL=5newPLDm=0 net wor kDomai n= suppr essMOH=F
triggerByJoi n=F Notiflnd= ni.niid=39 ni.l=0 ni.nnd=0devi ceCepn= partitionSearchSpace=

geol ocl nf o={ geol ocPki d=, filterPkid=, geolocVal = devType=4} | ocPki d=29c5clc4-8871-4dle-8394-
0b9181e8c54d | ocName=Hub_None deduct BWF f at eShar el d=St andAl oneCl ust er: 31614361

vi deoTraffi cC ass=Unspeci fi ed dt mvcNodel d=0 dt nCurrent Ci =0 i sOf f Net Devi ce=F i gnCnt H=F

cmDevi ceType=4 ssCause=0Tr anspar ent Dat a=nul | CanSupport SI PTandN=f al se Transl d=0 Al | owBi t Mask=0x0
User Agent Or Server = Ori gDDNarre=| ocal e: 1 Nane: UnicodeNanme: pi: 0 ntCallerld= ntCaller Name=

FDat aType=0opl d=0ssType=0 SsKey=0i nvokel d=0r esul t Exp=Fbpda=F i sPar anfSet =F nobi | i t yEvent Type=0x0
Bi bEnabl ed = 0 MMCap=0x1 CAL={v=-1, m=-1, tDev=F, res=F, devType=0} CAL={v=-10, m=1, tDev=F,
res=F, devType=0} Call |l nstanceNunber=0 far EndDevName=TEST_ 543210 hdr MOH=0

02305084. 001 | 10:15:07.835 | Appl nfo | LineCdpc(275): -dispatchToAl | Devices-,

si gNane=CcNot i f yReq, devi ce=SEPES8BA70FB6EOA

02305085. 000 | 10: 15: 07.836 | Sdl Si g | RSVPSpl i t Sessi onReq

| wai t | RSVPSessi on( 1, 100, 107, 251)

| Reservati onMgr (1, 100, 110, 1) | 1, 100, 14, 94475. 134710. 106. 87. 164"* | [R N
H:0,N:5L:0,V:0,Z:0,D: 0] Cl= 31614361 aCl=31614361 bCl =31614366 i sASer Cl =F i sBSer Cl =F aNodel d=0
bNodel d=0 cal | St at e=5 aCacSpeci fi cl nf o= CAC_PT_CONNECTED bCacSpeci fi cl nfo= CAC_PT_CONNECTED



02305086. 000 | 10:15:07.836 | Sdl Sig | LBMBpl it Sessi onReq

| active | LBM nterface(1, 100, 176, 1)

| Reservati onMyr (1, 100, 110, 1) | 1, 100, 14, 94475. 134710. 106. 87. 164"* [ [T: N
H:0,N:0,L:0,V:0,Z:0,D: 0] Cl= 31614361 aCl=31614361 bCl =31614366 i sASer Cl =F i sBSer Cl =F aNodel d=0
bNodel d=0 cal | St at e=5 aCacSpeci fi cl nf o= CAC_PT_CONNECTED bCacSpeci fi cl nfo= CAC_PT_CONNECTED

###$ DD Happens for Call back numrber

02305087. 006 | 10:15:07.836 |Applnfo |Digit analysis: match(pi="1", fqgcn="62151",
cn="62151", pl v="5", pss="", TodFilteredPss="", dd="08062131", dac="0")

02305087. 007 | 10:15:07.837 |Applnfo |Digit analysis: analysis results

02305087. 008 | 10: 15: 07.837 | Applnfo || PretransformCallingPartyNunber=62151

| Cal I i ngPart yNunber =62151

| DialingPartition=

| Di al i ngPat t er n=08062131

| Ful l yQual i fiedCal | edPart yNunber =08062131

| Di al i ngPat t er nRegul ar Expr essi on=(08062131)

Ol &tH| ol S HS & &H 2 AA% PSTN ALSXt EE= 12

UCCX 21 &4

2ME 27 - RTMTQ| CCX A E 2I(MIVR)
Customer 216101 X Trigger 999901 3} & gt&L|CH,

### Call received on UCCX trigger 9999 - Mainline number ###

51269: Apr 08 10: 14:27.842 | ST %M VR-SS_TEL- 7- UNK: Cal | . r ecei ved()

JTAPI Cal | Cont act[i d=11, type=Ci sco JTAPI

Call,inpl1d=29124/1, acti ve=true, st at e=CALL_RECEI VED, i nbound=t r ue, handl ed=f al se, | ocal e=en_US, abor
ti ng=f al se, app=App[ nane=AA, type=Ci sco Scri pt Application,id=4, desc=AA

enabl ed=true, max=4, val i d=true, cf g=[ Appl i cati onConfi g[ schema=Appl i cati onConfi g, ti me=2016- 04- 07
07:10: 40. 0, recordl d=53, desc=AA, nane=AA, t ype=Ci sco Scri pt

Application,id=4, enabl ed=true, sessi ons=4, scri pt =SCRI PT[ cal | back. aef], def aul t Scri pt =, var s=[ <j ava.
lang. String CS@, <j ava. | ang. | nt eger Del ayWi | eQueued>, <j ava.l ang. String

Triggy>], defaul tVars=null]]],

task=nul | , sessi on=nul | , seqNume=-

1, ti me=1460090667841, cn=9999, dn=9999, cgn=2161, ani =nul | , dni s=nul | , cl i d=nul | , at ype=DI RECT, | r d=nul |
,0cn=9999, odn=nul | , uui =nul | , aniii=nul I,

ced=nul |, Ori gProtocol Cal | Ref =00000000000071C401E2659700000000, Dest Pr ot ocol Cal | Ref =nul | , r out e=RP[
num=9999], port =nul | , aborti ng=fal se, transferring=fal se, di sconnecti ng=fal se]

ZHAIBEE $30| 9= PHEE ASRIER, Y S510] ChsH OOIHETH ME 24 ofo]
a CHt Blaa EHE MEtghLc)

IMPL ID = 29125, %4 ID = 3400000019

51338: Apr 08 10: 14:27.869 | ST ¥M VR- ENG 7- UNK: Execut e step of Task 34000000019 : Start /*
Si npl e Queui ng Tenplate ... */
51339: Apr 08 10: 14:27.869 | ST %M VR- ENG 7- UNK: Execut e step of Task 34000000019 : Accept (--



Triggering Contact--)

51340: Apr 08 10: 14:27.869 | ST YM VR-SS_CM 7- UNK: Maki ng Monitoring flag=true old flag val ue
=f al se

St 7|27t XIEEn EHEez JE ol MEYELICE

51349: Apr 08 10: 14:27.872 | ST %M VR-SS_TEL-7- UNK: Cal | . attri but ed()

JTAPI Cal | Cont act[i d=11, type=Ci sco JTAPI

Cal |, inpl1d=29124/1, acti ve=true, st at e=CALL_RECEI VED, i nbound=t r ue, handl ed=f al se, | ocal e=en_CA, abor
ti ng=f al se, app=App[ name=AA, t ype=Ci sco Scri pt

Application,id=4, desc=AA, enabl ed=t r ue, max=4, val i d=t r ue, cf g=[ Appl i cati onConfi g[ schenma=Appl i cati on
Config,ti ne=2016-04-07 07:10: 40. 0, recordl d=53, desc=AA, nane=AA, t ype=Ci sco Scri pt

Application,id=4, enabl ed=true, sessi ons=4, scri pt =SCRI PT[ cal | back. aef], def aul t Scri pt =, var s=[ <j ava.
I ang. String CSQ@, <j ava.l ang. I nteger Del ayWi | eQueued>, <j ava.l ang. String

Triggy>], defaul tVars=null1]]],task=34000000019, sessi on=Sessi on[i d=001-

Oxbdf d63e0c, parent =nul | , acti ve=true, st at e=SESSI ON_| N_USE, ti ne=1460090667843] , seqNum=0, t i me=14600
90667841, cn=9999, dn=9999, cgn=2161, ani =nul | , dni s=nul | , cl i d=nul | , at ype=DI RECT, | rd=nul | , 0cn=9999, od
n=nul I , uui =nul I , aniii=null, ced=nul |, Ori gProtocol Cal | Ref =00000000000071C401E2659800000000, Dest Pr o
t ocol Cal | Ref =nul I, r out e=RP[ numr9999] , port =TP[t ype=Ci sco CTI

Port,id=0,inpl1d=543210, acti ve=true, stat e=I N_USE], aborti ng=fal se, transferring=fal se, di sconnectin
g=f al se]

51350: Apr 08 10:14:27.872 I ST YM VR-SS_TEL-7-UNK: Cal | I D: 11 Medi al d: 29124/ 1 Task: associ at ed
with Task I D 34000000019

DZol|7 2 M5 & el2Ast2ts HAIXIZH EAIELICHO| st ME TE T E (X7t T Zo]
HEZEZEE RdgfLch

51498: Apr 08 10:14:29.409 | ST %M VR-LI B_MEDI A-7- UNK: Pr Pl : appl d=4, confld=9, parld=0,
channel 1 d=7, channel I npl 1d=7, contactl|d=11, contactlnpl|d=29124/1 ->

Pronpt Pl ayer.initializeDataSource()

51499: Apr 08 10:14:29.409 | ST 9M VR-LI B_MEDI A-7- UNK: Pr Pl : appl d=4, confld=9, parld=0,
channel 1 d=7, channel I npl 1d=7, contact|d=11, contactlnpl|d=29124/1 -> play() pronptQ size=1
51501: Apr 08 10:14:29.409 | ST 9M VR-LI B_MEDI A-7- UNK: Pr Pl : appl d=4, confld=9, parld=0,
channel 1 d=7, channel I mpl 1d=7, contactld=11, contact!npl|d=29124/1 -> startQutput()

51504: Apr 08 10:14:29.415 | ST %M VR- LI B_MEDI A- 7- UNK: Pr Pl : appl d=4, confld=9, parld=0,
channel 1 d=7, channel I npl 1d=7, contactl|d=11, contactlnpl|d=29124/1 -> play(). StartQutput()
cal | ed.

51574: Apr 08 10:14:39.505 | ST %M VR- LI B_MEDI A-7- UNK: Pr Pl : appl d=4, confld=9, parld=0,
channel 1 d=7, channel I mpl 1d=7, contactl|d=11, contact!npl|d=29124/1 -> fil eSendDone(),

fini shed=fal se

o= EA
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Li ne 4103: 51617: Apr 08 10:14:46.625 | ST %M VR-SS _TEL-7-UNK: Cal | I D: 11 Medi al d: 29124/ 1
Task: 34000000019 Digit received: 0O

Li ne 4113: 51627: Apr 08 10:14:47.244 | ST %M VR-SS _TEL-7-UNK: Cal | I D: 11 Medi al d: 29124/ 1
Task: 34000000019 Digit received: 8

Li ne 4118: 51632: Apr 08 10:14:47.793 | ST %M VR-SS _TEL-7-UNK: Cal | I D: 11 Medi al d: 29124/ 1
Task: 34000000019 Digit received: 0O

Li ne 4125: 51639: Apr 08 10:14:48.963 | ST %M VR-SS _TEL-7-UNK: Cal | I D: 11 Medi al d: 29124/ 1



Task: 34000000019 Digit received: 6

Li ne 4132: 51646: Apr 08 10: 14:49.521 I ST % VR-SS_TEL-7-UNK: Cal | I D: 11 Medi al d: 29124/ 1
Task: 34000000019 Digit received: 2

Li ne 4137: 51651: Apr 08 10: 14:50.017 I ST % VR-SS_TEL-7-UNK: Cal | I D: 11 Medi al d: 29124/ 1
Task: 34000000019 Digit received: 1

Li ne 4146: 51660: Apr 08 10: 14:50.432 | ST % VR-SS_TEL-7-UNK: Cal | I D: 11 Medi al d: 29124/ 1
Task: 34000000019 Digit received: 3

Li ne 4151: 51665: Apr 08 10: 14:50.859 I ST %M VR-SS_TEL-7-UNK: Cal | I D: 11 Medi al d: 29124/ 1
Task: 34000000019 Digit received: 1

Li ne 4158: 51672: Apr 08 10:14:51.559 I ST 9% VR-SS_TEL-7-UNK: Cal | I D: 11 Medi al d: 29124/ 1
Task: 34000000019 Digit received: #

Li ne 4161: 51675: Apr 08 10: 14:51.560 | ST %M VR- STEP_MEDI A_ CONTROL- 7- UNK: Task: 34000000019
GetDigitStringStep (ParseInputStep) (or Extended): Normal Keys collected: 08062131

O7 OHE Y AX7EUCCXollM 2 2[EUCHS3 7 A3 EEoiM S=ELCH

Line 4162: 51676: Apr 08 10:14:51.560 IST %MIVR-ENG-7-UNK:Execute step of Task 34000000019 :
Terminate (--Triggering Contact--)

Li ne 4165: 51679: Apr 08 10: 14:51.566 | ST %M VR-SS _TEL-7-UNK: Cal | I D: 11 Medi al d: 29124/ 1
Task: 34000000019 com ci sco. jtapi.C scoRTPI nput St oppedEvI npl recei ved

s 471 EH

£317} E2/7{2 MEHE(@Y IcD 23 7E)

### makecal | () is called with the new CTl port (543210) in a different call control group ###
### trigger 3999 (callback trigger) ###

51700: Apr 08 10:14:51.570 I ST %M VR- ENG 7- UNK: Execut e step of Task 34000000019 : cCQutbound =

Pl ace Call (to Triggy)

51704: Apr 08 10:14:51.570 | ST %M VR- STEP_CALL_CONTROL- 7- UNK: Task: 34000000019 CreateCall Step
Executi on

51723: Apr 08 10:14:51.772 1 ST %M VR-SS _TEL-7-UNK: Cal | I D: 12 Medi al d: 29125/ 1 Task:34000000019
makeCall(543210,3999,10000)

51744: Apr 08 10:14:51.778 I ST %M VR-SS TEL-7-UNK: Cal | I D: 12 Medi al d: 29125/ 1 Task: 34000000019 Cot
Cal | ActiveEv, ConnCreatedEv 543210::1, ConnConnectedEv 543210::1, Call Ctl Connlnitiat edEv
543210::1, TernConnCreatedEv TEST_543210, TernConnActiveEv TEST_543210, Call Ctl Ter nConnTal ki ngEv
TEST 543210, events on the AddressCal | Gbserver.

51752: Apr 08 10:14:51.779 I ST %M VR-SS TEL-7-UNK: Cal I | D: 12 Medi al d: 29125/ 1 Task: 34000000019 Cot
Cal | G| ConnDi al i ngEv 543210::1, events on the AddressCal |l Cbserver.

51758: Apr 08 10:14:51.783 I ST %M VR-SS TEL-7-UNK: Cal I I D: 12 Medi al d: 29125/ 1 Task: 34000000019 Cot
Cal | Ct| ConnEst abl i shedEv 543210::1, events on the AddressCal |l Cbserver.

51763: Apr 08 10:14:51.787 I ST %M VR-SS TEL-7-UNK: Cal | I D: 12 Medi al d: 29125/ 1 Task: 34000000019
connect returns

CHE OIClod e 38 & A4 SO CHE &3 Ao A& 0IM 2 &l S37F dS&LICH

52006: Apr 08 10: 14:51.886 | ST %M VR- LI B_MEDI A- 7- UNK: Pr onpt Pl ayer. set TxDesti nati on() |nside set
Tx Destination

52007: Apr 08 10:14:51.886 | ST %M VR- LI B_MEDI A- 7- RTP_PROPERTI| ES_REASSI GNED: RTP Properti es
Reassi gned: Met hod Nane=set TxDesti nati on(), HOST NAME=10. 106. 87. 133, PORT NUVBER=24694, PACKET

S| ZE=20

52008: Apr 08 10:14:51.886 | ST %M VR-LI B_MEDI A-7-UNK: PrPl : appld=4, confld=10, parl d=0,

channel 1 d=1, channel I npl 1d=1, contactld=12, contactlnpl|d=29125/1 -> set TxDesti nati on:

payl oadType=4

52009: Apr 08 10:14:51.886 | ST %M VR SS_TEL-7-UNK: Cal | I D: 12 Medi al d: 29125/ 1 Task: 34000000019
makeCal I is SUCCESSFUL, Conns |length =2

A3ZIE 2 M#o| AISEILICH0|A RSt of



IMPL ID = 29125, %4 ID = 3400000023

2 EHAH[O| CTI ZE =4003

51917: Apr 08 10:14:51.853 I ST %M VR-SS TEL-7-UNK: Cal | . attri buted()

JTAPI Cal | Cont act [i d=13,type=Ci sco JTAPI

Cal |, inpl1d=29125/1, acti ve=true, st at e=CALL_RECEI VED, i nbound=t r ue, handl ed=f al se, | ocal e=en, abortin
g=f al se, app=App[ nanme=I CD, t ype=Ci sco Scri pt

Appl i cation,id=0, desc=I CD, enabl ed=t rue, max=10, val i d=t rue, cf g=[ Appl i cati onConfi g[ schema=Appl i cati
onConfi g, ti me=2016- 03-22 17:58: 01. 0, recor dl d=43, desc=I CD, nane=I| CD, t ype=Ci sco Scri pt
Application,id=0, enabl ed=true, sessi ons=10, scri pt =SSCRI PT[ i cd. aef], def aul t Scri pt =, var s=[ <j ava. | an
g.String CSQ], defaultVars=null]]],task=34000000023, sessi on=Sessi on[i d=001-

Oxbdf d63e0d, parent =nul | , acti ve=true, st at e=SESSI ON_| N_USE, ti ne=1460090691771] , seqNurr=1, t i me=14600
90691790, cn=3999, dn=3999, cgn=543210, ani =nul | , dni s=nul |, cl i d=nul | , at ype=Dl RECT, | rd=nul | , ocn=3999,
odn=nul | , uui =nul | , aniii=null,ced=null, OigProtocol Cal | Ref =00000000000071C501E2659B00000000, Dest P
rot ocol Cal | Ref =nul | , r out e=RP[ nun=3999] , port =TP[ t ype=Ci sco CTI

Port,id=5,inpl1d=4003, acti ve=true, st at e=I N_USE], aborti ng=fal se,transferring=fal se, di sconnecti ng=
fal se]

51918: Apr 08 10:14:51.853 I ST %M VR-SS _TEL-7-UNK: Cal | I D: 13 Medi al d: 29125/ 1 Task: 34000000023
associated with Task | D: 34000000023

A # Agents7t ZH| AEHOIY S5 W FHI7} SIS LICH AR 0| T8} 621512 B HEHE
Lict.

Li ne 4544: 52028: Apr 08 10: 14:51.889 | ST %M VR- ENG 7- UNK: Execute step of Task 34000000023 :
Play Prompt (--Triggering Contact--, Wl comePronpt)

Li ne 4545: 52029: Apr 08 10:14:51.890 | ST 9% VR- STEP_MEDI A_CONTROL- 7- UNK: Task: 34000000023
Executi ng Qutput Step

Li ne 4546: 52030: Apr 08 10:14:51.890 | ST % VR- STEP_MEDI A_CONTROL- 7- UNK: Task: 34000000023
Qut put St ep: nyExecute

Li ne 4577: 52061: Apr 08 10: 14:53.397 | ST % VR- ENG 7- UNK: Execut e step of Task 34000000023 :
Sel ect Resource (--Triggering Contact-- from CSQ

Li ne 4648: 52087: Apr 08 10:14:53.403 | ST %M VR-SS_TEL-7-UNK: Cal | I D: 13 Medi al d: 29125/ 1
Task: 34000000023, transfer (62151, 12000, ACKNON.EDGED)

OfO|ME &= CTI ZE 40030 M S&HE 7FX{SLICHO|O|ME &2 62151LILC}.

52165: Apr 08 10: 14:53. 447 | ST YM VR- SS_RM 7- UNK: Rl Mgr Addr essCal | Qbserver:

Cal | ¢t | ConnEst abl i shedEv received for call:16806342 [29126/1], address 4003, calling party 4003,
and called party 62151

52166: Apr 08 10: 14:53.447 | ST YM VR-SS_RM 7- UNK: Rl Mgr Addr essCal | Qbserver:

Cal | Ct | ConnEst abl i shedEv received for call 16806342 [29126/1] and agent null being ignored
because orig isn't a | ogged in agent

Li ne 4953: 52392: Apr 08 10:14:59.245 | ST % VR-SS_TEL-7-UNK: OrigCal | =Cal I I D: 13
Medi al d: 29125/ 1 Task: 34000000023, Consul t Event = Cal | Cbser vati onEndedEv
Li ne 4955: 52394: Apr 08 10:14:59.245 | ST % VR-SS_TEL-7-UNK: Cal | I D: 13 Medi al d: 29125/ 1
Task:34000000023, transfer (62151, consultCall)

52678: Apr 08 10:14:59.325 I ST %M VR-SS_TEL- 7- UNK: call.transferred(62151) - transferring
JTAPICallContact[id=13, type=Cisco JTAPI
Call,implId=29125/1,active=false, state=CALL_CONNECTED, inbound=true, handled=false, locale=en, abort
ing=false, app=App [name=ICD, type=Cisco Script

Application, id=0,desc=ICD, enabled=true,max=10,valid=true,cfg=[ApplicationConfig[schema=Applicati
onConfig,time=2016-03-22 17:58:01.0, recordId=43,desc=ICD,name=ICD, type=Cisco Script

Application, id=0, enabled=true,sessions=10,script=SSCRIPT[icd.aef],defaultScript=,vars=[



52679: Apr 08 10:14:59.326 IST %MIVR-SS_TEL-7-UNK:CallID:13 MediaId:29125/1 Task:34000000023,
released TP[type=Cisco CTI Port,id=5,implId=4003,active=false,state=IDLE] from 3999, and

releasing udpPort 24694
52680: Apr 08 10:14:59.326 | ST %M VR-SS_TEL-7- UNK: Cal | I D: 13 Medi al d: 29125/ 1 Task: 34000000023
com ci sco. jtapi. TermObservati onEndedEvl npl received

ol AIR{0fA{ AEH 212 X|Z ghost CTI ZE 54321001 HZE|DY, AT EE 12 AE#I0| 7|8 52
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AT BIE 10|M =XHE LU=E Wk X| Z|CchEl= &:

52014: Apr 08 10: 14:51.887 | ST %M VR- ENG 7- UNK: Execut e step of Task 34000000019 : AnyDigit = Get
Digit String (cQutbound)

52015: Apr 08 10: 14:51.887 | ST %M VR- STEP_MEDI A_ CONTROL- 7- UNK: Task: 34000000019 Executi ng
GetDigitStringStep (Parsel nput Step)

52016: Apr 08 10: 14:51.887 | ST ¥%M VR- STEP_MEDI A_ CONTROL- 7- UNK: Task: 34000000019
GetDigitStringStep (Parsel nputStep): nmyExecute

OO|METL 7|& FELICLAH 12 = ] AR S glgLch

52820: Apr 08 10:15:07.375 I ST %M VR-SS_TEL-7- UNK: Cal | I D: 12 Medi al d: 29125/ 1 Task: 34000000019
Digit received: 1

52821: Apr 08 10:15:07.375 I ST %M VR-LI B_MEDI A-7- UNK: Pr Pl : appl d=4, confld=10, parld=0,
channel 1 d=1, channel I npl 1d=1, contactld=12, contactlnpl|d=29125/1 -> stopPlay() call ed.

52825: Apr 08 10: 15:07.785 I ST %M VR-SS_CMTI- 7- UNK: process digit 1

52826: Apr 08 10: 15:07.786 | ST 9M VR- SS_CMTI- 7- UNK: Medi aDi al ogChannel id=1, st ate=I N_USE

MDC: : cl ear com ci sco. wf.cnt. di al ogs. CMISi npl eDi gi t St ri ngDi al ogl npl @a90df abortWaiting=fal se
52827: Apr 08 10:15:07.786 | ST %M VR- STEP_MEDI A_CONTROL- 7- UNK: Task: 34000000019
GetDigitStringStep (Parsel nputStep)(or Extended): Nornmal Keys collected: 1

St 28 H3 2 2[C|=MELICH

52828: Apr 08 10:15:07.786 | ST %M VR- ENG 7- UNK: Execute step of Task 34000000019 : Call Redirect
(cQut bound to Call backnumber)

52829: Apr 08 10: 15:07.786 | ST %M VR- STEP_CALL_CONTROL- 7- UNK: Task: 34000000019 Executi ng
Redirect Step (Cal |l Redirect), reset:true

52830: Apr 08 10: 15:07.787 I ST ¥%M VR-SS_TEL-7-UNK: Cal I I D: 12 Medi al d: 29125/ 1 Task: 34000000019,
Redirecting to: 08062131, Unconditional: false, ResetOigCalledAddr:false,

OigCal | edAddr: 08062131, CallingSearchSpace:redirecting. party

52831: Apr 08 10: 15:07.794 | ST YM VR- SS_TEL- 7- UNK: Recei ved Event

:com ci sco. jtapi. G scoRTPI nput St oppedEvi npl

52832: Apr 08 10: 15:07.795 I ST Y%M VR-SS_TEL-7-UNK: Cal | I D: 12 Medi al d: 29125/ 1 Task: 34000000019
com ci sco. jtapi. G scoRTPI nput St oppedEvl npl received

SEHH M A 2 HS I Mz G (o] U&LICH

Li ne 5474: 52884: Apr 08 10: 15:08.048 | ST %M VR-SS_TEL-7- UNK: Cal | . abandoned() - transferring
JTAPI Cal | Contact[i d=12,type=Ci sco JTAPI

Cal |, inpl1d=29125/1, acti ve=true, st at e=CALL_ANSVERED, i nbound=f al se, handl ed=f al se, | ocal e=en_US, abo
rting=fal se, app=App[ nane=AA, t ype=Ci sco Scri pt

Appl i cation,id=4, desc=AA, enabl ed=t r ue, max=4, val i d=t r ue, cf g=[ Appl i cati onConfi g[ schema=Appl i cati on
Config,ti me=2016-04-07 07:10: 40. 0, recordl d=53, desc=AA, nane=AA, t ype=Ci sco Scri pt

Application,id=4, enabl ed=true, sessi ons=4, scri pt =SCRI PT[ cal | back. aef], def aul t Scri pt =, var s=[ <j ava.



I ang. String CSQ@, <j ava.l ang. I nteger Del ayWi |l eQueued>, <j ava.l ang. String

Triggy>], defaul t Vars=nul1]]], task=34000000019, sessi on=Sessi on[ i d=001-

Oxbdf d63e0d, parent =nul | , acti ve=true, st at e=SESSI ON_| N_USE, ti ne=1460090691771] , seqNum=0, t i me=14600
90691577, cn=3999, dn=nul | , cgn=543210, ani =nul | , dni s=nul |, cl i d=nul | , at ype=OUTBOUND, | r d=nul | , ocn=399
9, odn=nul | , uui =nul | ,aniii=null,ced=null, OigProtocol Cal | Ref =nul | , Dest Pr ot ocol Cal | Ref =00000000000
071C501E2659900000000, r out e=RP[ nun=0000], . . .

Li ne 5479: 52889: Apr 08 10:15:08. 051 | ST 9%V VR- STEP_CALL_CONTRCL- 7- UNK: Task: 34000000019
Redirect Step (Call Redirect): Oiginal Cal | edAddressExpr Sel ected: Destination

Li ne 5510: 52898: Apr 08 10:15:08.053 I ST %M VR-SS_TEL-7-UNK: Cal | . transferred(08062131) -
transferring JTAPI Cal | Contact[id=12, type=Ci sco JTAPI

Cal |, inpl1d=29125/1, acti ve=f al se, st at e=CALL_TRANSFERRED, i nbound=f al se, handl ed=f al se, | ocal e=en_US
, aborti ng=f al se, app=App[ hame=AA, t ype=Ci sco Scri pt

Application,id=4, desc=AA, enabl ed=t r ue, max=4, val i d=t r ue, cf g=[ Appl i cati onConfi g[ schema=Appl i cati on
Config,ti me=2016-04-07 07:10: 40. 0, recordl d=53, desc=AA, nane=AA, t ype=Ci sco Scri pt

Application,id=4, enabl ed=true, sessi ons=4, scri pt =SCRI PT[ cal | back. aef], def aul t Scri pt =, var s=[ <j ava.
I ang. String CSQ@, <j ava.l ang. I nteger Del ayWi | eQueued>, <j ava. |l ang. String

Triggy>], defaul t Vars=nul1]]], task=34000000019, sessi on=Sessi on[ i d=001-

Oxbdf d63e0d, parent =nul | , acti ve=true, st at e=SESSI ON_| N_USE, ti ne=1460090691771] , seqNum=0, t i me=14600
90691577, cn=3999, dn=nul | , cgn=543210, ani =nul | , dni s=nul |, cl i d=nul | , at ype=OUTBOUND, | r d=nul | , ocn=399
9, odn=nul | , uui =nul | ,aniii=null,ced=null, OigProtocol Cal | Ref =nul | , Dest Pr ot ocol Cal | Ref =00000000000
071C501E2659900000000, route. . .

Line 5511: 52899: Apr 08 10:15:08.053 I ST %M VR-SS_TEL-7-UNK: Cal | I D: 12 Medi al d: 29125/ 1
Task: 34000000019, rel eased TP[type=Cisco CTlI Port,id=0,inplld=543210, acti ve=fal se, st at e=| DLE]
from 0000, and rel easi ng udpPort 24692
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